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(1) 3x—7y+4x=7x—7Ty (2) 8a—b—T7a+2b=a+b
(3) —5x+9y+3x—8y (4) 3x2—5x—2x2+x
=—2x+vy =x2—4x

b2y 180 NnTW3B,

%U(3a+2b%Ha*4b) (3a+2b)—(a—4b)
=3a+2b+a—4b =3a+2b—a+4b
=4a—2b =2a+6Db

(2) (x—4y)+(—2x+3y) (x—=4y)-(=2x+3y)
=x—4y—2x+3y =x—4y+2x—3y
=—x—vy =3x—7y
( Horio+1 — 1 ZBEERI Tl OIEICHT B B X T HNT 7,

3.  HIZEH

(1) 3x+4y (2) a—2b

+ ) 2x—2y ) —a—3b
5x+2y 2a-+thb

4.

(1) 5(4a—5b) (2) 5x+2(x—2y)

=20a—25b =5x+2x—4y
=7x—4y

(3) 2(2x—y)+(5x—y) (4) 3(x+y)—3(x—y)
=4x—2y+5x—y =3x+3y—3x+3y
=9x—3vy =6y

5.

(1) 2ax (—9b) =—18ab (2) (—4x) X (=5y) =20xy

(3) (—2a)2=(—2a)x(—2a)=4a?2
12ab
— 2% 43
3b SEOBIZLT

(4) 12ab+ 3b=



3x?2 6 x 2

(5) 3x2+ x= =3x (6) (—6x2K 2x=— =—3x
2 X
6. m, nZEHLTEHLE2Oo00BHIET 2m, 2n
LEREINDH, ToOLE, 2¥KOFNT
2m+2n=2 (m+n)
mb. n bEHEZENOm+ nIIBETH D,
b2 (m+n) 1XMEHETH S,
7. 7x+y=4 vIZOWTHES  CRELDIXITH!

7 x R |
y=—7x1+4



